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2) Use your knowledge of equivalent fractions to solve this problem.
3 girls share 2 cakes equally. 6 boys share 4 cakes equally. Who gets to eat
more cake?

Draw a model or image to support your written explanation.
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3) Hana, Isla and Fabien all had a bar of chocolate the same size. Hana ate two quarters of her bar of chocolate. Isla
ate three sixths of her chocolate and Fabien ate five tenths of his chocolate. Who ate the most?

< -

1) Which one s the odd one out and why?
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1) Which one s the odd one out and why?
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2) Is this statement true or false? Prove it and explain your reasoning

Equivalent fractions
always have the same
numerator.
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1) Use the bar models to subtract the fractions by taking away,

) Calculate the answer. ) Colour the bar model and calculate the answer.
5_3. 9 3 _
878 0770 7

b) Find the missing numerator and d) Fill in the boxes to calculate the subtraction.
calculate the answer.

-F_

2) Use the bar models to subtract the fractions by finding the difference.

a) Calculate the answer.

[TTE -

ool
"

ool

b) _Colgur the bar model and calculate the answer.
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1) Lisa and Mo are calculating

Here are the models they used to help them calculate the answer:

Are both models correct? Explain your reasoning.

2) a) The answer to a subtraction calculation is -2_.. Tick the representations which would give the correct answer.
Explain your reasoning for each. 0
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Maths Mastery

Time

Time

2. Rishi and Ellie were playing outside. Rishi
played outside for quarter of an hour. Ellie
played outside from & o’clock to half past 4.
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1. Put these clocks in order.
Could they go in a different order?
Explain your reasoning to a friend.

Time

3. Joshua watches his favourite programme. It
starts at 4 o'clock and finishes at quarter to 5.
The adverts in the middle were 5 minutes long.

a

X
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Time Time

2. Rishi and Ellie were playing outside. Rishi
played outside for quarter of an hour. Ellie
played outside from & o’clock to half past 4.

3. Joshua watches his favourite programme. It
starts at 4 o'clock and finishes at quarter to 5.
The adverts in the middle were 5 minutes long.

If Rishi finished playing 5 minutes after Ellie

How long was the
went out to play, what time did he start . television programme?

playing?

Explain your answer.

Time

Time

4. He then watches another episode which is the
same length as the first programme.

5. Isabelle can swim 2 lengths of the pool every
5 minutes. She starts swimming at 10 minutes
past 9 and finishes at 5 minutes to 10.

AAIL ol alanb alemeein o
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6. Sort the statements into true and false. Explain
your reasoning.

There are 35 days in 5 weeks. | | 2 minutesis 110

seconds long.

There are 24 months
in 2 years. Half a day is 13 hours.

There are more seconds in a
minute than minutes in an hour.

s e

Time

7. John is looking at the number of seconds
in a minute.
1 minute = 60 seconds
2 minutes = 120 seconds

He says, “120 is double 60. So to find out 3
minutes I need to double 120.”

Is he correct? How do you know?

X
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1) ) Put the models and images in ascending order. °
A [ c o

13 L O]
100 @6

E F 3

ninety-seven

0.04 0.40 hundredths

b) Write 3 different decimal numbers that would fit between the first and second images you have
ordered above.

2) Work with g partner. You each need a different coloured pen or pencil. Roll a dice to make uour tenthe then
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2) What is the same and what is different about this fraction and decimal number? Explain why.

89
100 0.89

3) True or false? Explain your answer.
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1) Which is the odd one out? Explain why.

A B

2
0.5 100

2) What is the same and what is different about this fraction and decimal number? Explain why.

89
100 0.89

3) True or false? Explain your answer.
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1) Toni and Sajid are rounding 2.5 to the nearest whole number.

Who is correct? Explain how you know who has rounded 2.5 correctly.

2.5 rounds to 2 to the
nearest whole number.

45

54

“b

55

51

b) Explain why you think these numbers round to 5.

2) Jude is thinking of a number with one decimal place. Rounded to the nearest whole number, the number is 5.
@) Tick which of these could be Jude's number:

Pick up where you left off
We have opened your PDF to the last read page.
To change this behavior, go to Settings.
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2) Here are the results of how far a group of children could hit a ball with a bat:

Name Distance
Trixie 9.6m
Jayden 63m
Kiran 8.8m
1zaak 45m
Willow

The children's individual throws are rounded to the nearest whole number.
When the rounded numbers are added together, the total distance thrown is 37m.

@) Write all the possible distances that Willow could have thrown.
Explain how you know.

b) Willow's throw is greater than Jayden's throw but less than Kiran's throw. Is this true or false?

10:41 AM
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45

2) Jude is thinking of a number with one decimal place. Rounded to the nearest whole number, the number is 5.
@) Tick which of these could be Jude's number:

54

“b

55

51

b) Explain why you think these numbers round to 5.

€) Write one other number with one decimal place which would round to 5.

3) When a number with one decimal place is rounded to the nearest whole number, it rounds to 13,

The number won't have
a5 as the tenths digit.





image18.png
@O | B Horizon X | @ outiook x | Bk Mail-D X | @ onedrive x | ) Micoso X | @ Cyele3 x | @l Cyele3 x | Q twinkle x | £ 100007 x | [ Horior x | 4 - 2 x

G @ File | CyUsers/david.re/AppData/Local/Temp/Temp1_t-m-31200-year-4-diving-into-mastery-recognising-tenths-and-hundredths-teaching-pack-step-...

= 2 | of3 Q -+ 72 2 B Page view A Read aloud

Add text Y Draw ~ & Highlight - & Erase (=] B | #

1) Greg is explaining what this grid shows. Is he correct? Explain your answer.

There are two columns
‘and one row shaded which
represents 7 or 3%

2) What is missing? Explain your reasoning.

3) Who has the most? Explain your answer. Can you use a diagram to explain?
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1) Here are some clues about @ mystery number.
+ There are four digits in total.
+ The largest digit is a hundredth
+ There are no ones.
+ The tenths digit and the tens digit are the same.
@) Which of these could be the mystery number? Hint: there is more than one.
375 1018 60.46 2025 1517

) Choose one of the possible mystery numbers.
Write another clue that would mean only this number is the right answer.

2) a) Four children have written down a number. Under each number write the name of the person describing it.

17.08 125 235

1197

& Erase

e
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Is Peter correct? If not, explain the mistake he has made and give the correct answer.

'F  Highlight

3.09 is my number. This is made up
of three ones and nine tenths.

Is Liliana correct? If not, explain the mistake she has made and give the correct answer.

3) Here are four numbers. Circle the odd one out and explain why it is different to the rest.
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1) Which one s the odd one out and why?

1 4 5 3
LS | €% °i

2) The children have been using multiplication to calculate equivalent fractions for . Chec their work. Correct and

explain their mistakes
Cchitd Equivalent | Explanation
Fraction
Selma 1
1z
Lo
7
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1) Explore these equivalent fraction number sequences. Predict what comes next and explain the pattern.

d) Create your own equivalent fraction number sequence. Can your friend explain the pattern?

2) Use your knowledge of equivalent fractions to solve this problem.
3 girls share 2 cakes equally. 6 boys share 4 cakes equally. Who gets to eat
more cake?

Draw a model or image to support your written explanation.
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